Krippendorf’s

Question Rater # Rating | # Pairs t Percent Alpha (95%Cl)
#1 Rater #2 | Pairs Agreeing Agreement
I am generally satisfied with FAMILY | MD 22 22 100% T
provider's communication with FAMILY | NEUTRA |22 22 100% T
family L
MD NEUTRA |22 22 100% T
L
NURSE |FAMILY |11 10 90% T
NURSE | MD 11 10 90% T
NURSE |NEUTRA |11 10 90% T
L
The conversation impacted the FAMILY | MD 22 10 45% 0.0 [0, 0.34]
family's healthcare decisions FAMILY | NEUTRA |22 15 68% 0.36[0.0, 0.66]
L
MD NEUTRA |22 13 59% 0.0 [0.0, 0.37]
L
NURSE |FAMILY |11 7 63% 0.29[0.0,0.62]
NURSE | MD 11 7 63% 0.28 [0.0, 0.76]
NURSE | NEUTRA |11 7 63% 0.0 [0.0, 0.59]
L
The family understands treatment | FAMILY | MD 22 21 95% 0.08 [0.0, 0.48]
options explained by the provider | FAMILY | NEUTRA |22 19 86% 0.41[0.04, 0.72]
L
MD NEUTRA |22 20 90% 0.22 [00, 0.65]




Krippendorf’s
Question Rater # Rating | # Pairs T Percent Alpha (95%Cl)
#1 Rater #2 | Pairs Agreeing Agreement
NURSE |FAMILY |11 9 81% 0.0 [0.0, 0.54]
NURSE | MD 11 10 90% 0.36 [0.0, 0.84]
NURSE |NEUTRA |11 10 90% 0.50 [0.0, 0.92]
L

TAgreement when both raters provide the same rating (e.g., both say agree/strongly agree, neutral, or
disagree/strongly disagree)

IKrippendorf’s alpha calculated on the full five-point Likert scale; not well defined when little to no disagreement
between raters. Lower end of confidence interval truncated at zero with lower bound less than zero.



